. What is Picric Acid ? How can it obtained from

Phenol ?

fafsrr o1 FN ® 2 T WA A HH 9 fmA S
%2

. Identify the products :

NO,
(i) 6Hl__,
Metal + HCl
NO,
(ii) LN Fe/H,0
IS i Jg=TT :
NO,
Q) 6lH]
Metal + HCl
NO,
(ii) 4+ o Fe/H0 |

. How does Acrolein react with NaOH solution ?

T &1 NaOH foera & @y &= fwen 2t 2
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Note .— The question paper is divided into two sections A

and B. Write answers as per the given instructions.

fE9r .- T8 yyA-u3 ‘o1’ iR ‘e’ 1 wuel | fawifea €1 Tow

g & EYER W+ & W e
Section—-A 7x1=7

(Very Short Answer Type Questions)

Note .— Answer all questions. As per the nature of the

questions delimit your answer in one word, one
sentence or maximum up to 30 words. Each

question carries 1 mark.
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1. (1)

(i)

(iii)

(iv)

(v)

(vi)

(vii)

ug—H

(3tfa &g ST u9)
Tt gvl & W AR AT AT IW R TATEAR
TH IR, TH g A SAad 30 TRl HOqREiEd
HIY | TAF G99 1 3TF FT §
Write the Hooke’s Law.
gh & 1w = fafem
What is Derived or Carbinol System ?
Ffcad a1 HifeHia 9gfa 1 § ?
Write Rosenmund reaction.

Tsque Afuferan fafe |

Why chloroacetic acid is stronger than acetic
acid ?

FARIUHICHh T WHifeswh o7 &t o | Jad
STATg T eI § 7

Why nitrobenzene does not perform Friedel-
Crafts reaction ?

TS H Riea-hroed Afdfehan 31 & gea=
et 7 ?

Explain metamerism of Ethers.

3O 1 HEAEIE i AT HifST |

What is Hoffman’s hypobromide reaction ?

TR BRUsHEe sfufwEa =1 & ?

CH-06 / 710 / 4 (2)

Section-B 4x7=28

(Short Answer Type Questions)

Note .— Answer any four questions. Each answer should
not exceed 200 words. Each question carries

7 marks.
gUg—a
(g I T99)

o - fF=l a® 9w & SW Ul o9 et S<R Rl

sfereray 200 gl W OfEifgd wifew ) gde 99

7 3T HT Bl

. Explain the Beers and Lambert Law.

AR 9 e & M S e st

. Why phenols are stronger acids than alcohol?

Prepare nitrophenol from phenol.

Uoehlelcl i oMl H HAll Yool Tl 1 B § 2
T § AR i TR |

. What happen when HCHO and CH;CHO are

react with NH; separately ?

M @ ¢ 5@ HCHO & CH3;CHO &t Joh-Joe,
NH; & foan &wtemt § ?

. Why acid catalyst is used for esterification ? Give

mechanism.

TfRSyE H ofel SAeh 1 SYAN feEdr S g,
F ? fwafafy el

. Which type of oxirane compounds can be formed

from cis- and trans-2-butene ?
fag- 9 gE-2-=E2F @ fea-fag yhr & iR
it ST ST G § 2

CH-06/ 710/ 4 (3) Turn Over



